[ Efficiency vs vertpos |

= 0.1 : , :
C0.00F -+ eeeieeeees R RPN
20 aaf : : :
o SRR e
(&) F . . .
SO.07F --eeferivreionenes SRR o e
sk : : :
Al ) Il A SRR A
0.0+ eferieentenene SRR A RN R
0.04F -+--eefrrivrencfenens S AN
0,03 -++wofeiennofoonnes !
0.02F -} R P ERC ANY R0 LT
.01 -++-efeienrforens O LA P R
3 :
b vobn v b by b 0 i
o 1.9 T
T i :
o 1
1:» ------- [ S [0
0.954

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__CMSSW_100ti
Efficiend —— pom_v0001_R000000001__Global__CMSSW_100timeHPTT

0.8

N H : :
o F : :
> 0.7 e FRRRRE R FRRREERN
2] L . .
z u : :
L>)~- 0.6 - e I P P P
c n : :
[} r :
(8] I [
£ 0'5: :
o F :
(001 R R PPy PR P PEPREPEE SEREPLPE e
O R R ARIR SRR AR
0_25 ........................ ‘ ................ .. .......
o)1 = SR | EESEE SRR Proneeedees ¥
o M : :
.QL»O:""!""'“ *: ....!....
T r i !
o [ :
1:» <~:r M PYIEIIRIITVIVIG I U0 14 4
095t ] ] i ] ]
=30 -20 -10 0 10 20 30

TP vert z (cm)

~ 0.02

=
TTT T T T T
1
T

21086 -4 -20 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


